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BBE/IEHHUE

YuebHo-meToanueckoe mocooue pazpaboraHo jis OOy4eHUsI YTECHUIO B
MPWIOKEHUN K COBPEMEHHBIM 00pa3oBaTeNbHBIM MapagurMaMm. B HacTosiee
BpeMsi 00pa3oBaTEIbHOM NPOLECCE HCHOJb3YIOTCS JBE MMAPaJUIrMbl: 3HAHUEBO-
LIEHTPUCTCKAsE W T'yMaHHCTHUYECKas JUYHOCTHO-OPUEHTUPOBaHHAsA. MBI
NPUAECPKUBAEMCS] TOUKH 3PEHMSI, COTJIaCHO KOTOPOW B 00pa30BaTEIbHOM IIpOLIECcCe
JIOJDKEH MMETh MECTO MPOIECC TapMOHHU3AIMUA PAacCMaTPUBAEMBIX Mapagurm. Y
KaXJIOW M3 HHUX €CTh CBOS POJIb. 3HAHWEBO-LICHTPHUCTCKASI CO3JA€T OCHOBY Tak
Ha3piBaeMbIM hard skills, B To BpeMs Kak TyMaHHCTHYECKas JUYHOCTHO-
OpUEHTHpOBaHHas crocobcTByeT paszButuio flexible skills, koropeie panee
Ha3piBauCch  soft skills. W ampoGaruedt  BBIIBUHYTOTO  TEOPETHYECKOIO
MPEANOJI0KEHUS TIOJDKHO CTaTh Y4eOHO-METOANYECKOoe mocooue.

Hust peanmmzaruu neneit @I'OC BO MbI npeayiaraeM TEXHOJIOTHIO OJI0YHO-
CTPYKTYPUPOBAHHOTO YTEHUS UHOSI3BIYHOTO TEXHUYECKOTO TEKCTA C MPUMEHEHUEM
TexHoJoTuH mind-mapping, T/A€ NOHATHE «OJOYHO-CTPYKTYPHUPOBAHHBII)
OTHOCUTCSL K (OopMe OpraHu3alud M YHOPSAOYMBAHUS CMBICIOBBIX OJIOKOB
TEKCTOBOM uH(popmauu, a mind-mapping HCHOONB3YETCS Kak MpUeM Jid
3allOMUHAHUSI OCHOBHOW MH(oOpMaru. Ml mojaraeMm, 4To TEXHOJOTHS OJIOYHO-
CTPYKTYPUPOBAHHOTO YTEHUS UHOSI3IYHOTO TEXHUYECKOTO TEKCTA C MPUMEHEHUEM
TEeXHOJIOTMK mind-mapping HampaBjieHa Ha Pa3BUTUE YNTATEIbCKON KOMIIETEHIIUN
Kak 0a30BOM cocTaBisitomield MpodecCHOHATBHOW TMOJATOTOBKH HWHKEHEPOB B
CEJIbCKOXO3SMCTBEHHOM BY3€.

B yuebHO-mMeTOmuueckoM mocoboun 10 Tem, Kaxmasd U3 KOTOPBIX
npeacTaBiieHa JAByMsl TeKcTamu. Tekct 1 — akamemuyeckuil mpodeccruoHaIbHO-
OpPUEHTHUPOBAHHBIN, B HEM COJIEPKUTCA HHPOpMAIIHs Ha MPOodheCcCUOHATBHBIE TEMbI
[0 arpoOMHXXEHEPUH U OH HMMEET MPAKTHYECKYI0 HaIpPaBICHHOCTh B pPaMKax
I'YMaHUCTUYECKOM MapagurMbl B COOTBETCTBUU C MOTPEOHOCTIMH 00YyUarOIIerocs,
TO €CTh TO, YTO MO3BOJUT Pa3BUBATh €r0 MOTUBBI U CTUMYJIbL. TEKCT 2 COAEPKUT
HAaY4YHO-TIOMYJISIPHYI0 UHPOPMAIMIO U OTHOCUTCS K MYOJUIUCTHYECKOMY CTHIIIO
(pexnama, 3anucku hepmepa), ohUIHATIBHO-IETOBOMY (JI€T0BOE MUCHMO), HO MPHU
’TOM  €ro  COJAEpX aHUE  HMEET  HEMOCPEACTBEHHOE  OTHOIIEHHE K
po(ecCUOHANIbHOMN AESTENBHOCTH CIIELIMATIMCTOB B 00IACTH CEJIbCKOTO X035HCTBA
B 1I€JIOM Y arpOMHKEHEPUH B YACTHOCTH.

K Tekcty 1 pa3paboTaHbl JE€KCHUKO-TPAMMATUYECKUE YIPAKHEHUS TIO0
YPOBHSIM  sI3pIKa IS Pa3BUTHUS  HaBbIKa  YTEHUS  MpodecCHoHaTbHO-
OPUEHTUPOBAHHBIX TEKCTOB:

1) poHeTnueckue ynmpakHeHHS
2) NEeKCUYECKHE YIPAKHEHUS
3) rpaMMaTUYECKUE yIPaKHEHUS
4) ynpaxHeHUs pa3BUTHSA ISl YCTHOU pedun
a) «Answer the questions on the text»
0) «Match the two parts to make up a sentence»
c) «Make up a plan and retell the text»
K Tekcty 2 pa3paboTaHa cuctemMa yrnpaxxHEHUN MO pa3HbIM BHIaM YTEHUS.
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Jlst pa3BUTHSI HAaBBIKA TIOUCKOBOTO YTECHHS O0yJaromeMycs MmpeajiaracTcsl HauTu
OTIpeJICICHHbIE JIEKCUUECKUE €ANHUIIBI Ui rpammaTrudeckue ¢popmbl. OTpaboTka
HAaBBIKOB O3HAKOMHUTEJIBHOTO YTEHUS OOECNeYMBAETCA uepe3 YNpaKHEHUs
«Highlight a subproblem for each problem», «Retell the text using a mind-map» u
np. HaBblk um3yyaromiero 4teHHsl MpeAsiaracTcsi pa3BUBATh Yepe3 YIPaKHEHHE
«Write the theses on the content of the texty». 3akpernnenue oOueynoTpeduTeNbHON
U CIEUUATBbHON TEXHUYECKOW JIEKCUKH OCTUTaeTcs, B TOM 4YHCIIE, C MOMOIIbIO
yIOpaKHEHHUST Ha clioBooOpa3oBatenbHbie GopMbl «Translate the words and their
derivatives». BbIXxol Ha YCTHYIO peub JOCTHTAaeTCsi 4epe3 Nepecka3d TeKcTa ¢
UCITOJIb30BAaHUEM TEXHOJOTHH mind-mapping.

Taxum oOpazom, yueOHO-METOANMUECKOE TOCOOHe 3aKiaabIBaeT (yHIaMEHT
JUIST  BBIPAOOTKM  HABBIKOB UTEHUS JUIA pabOTBI C  Y3KOCTCIHATbHBIMU
mpopecCHOHATLHBIMU ~ TEKCTaMM, KOTJIa CTYACHTY TMPUXOJUTCS COYETaTh
S3BIKOBYIO MH(OPMAIIMIO C Y3KOCTICIIMAIbHBIMUA 3HAHUSIMHU, O KOTOPBIX OH €Ile He
UMeeT TIOJIHOTO TMpejcTaBlieHuss Ha 1 Kypce, Tak Kak mnpodeccruoHaIn3aus
HAYMHAETCS CO 2 Kypca MOATOTOBKU Ha OakajaBpuaTe WIH CIICUATUTETE.
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AGRICULTURE

TEXT 1. What is agriculture?

VOCABULARY

. agriculture (1) — cebCKOE X03IMCTBO

. growth (n) — poct

. development (n) — pa3ButHe

. supply (v) — cHaGXathb

. raw materials — cbIpbE

. cultivation (n) — oOpaboTka

. field (n) — mose

. in order to — 111 TOrO, YTOOKI

. grow [grou] (grew, grown) (v) — pacTH, BbIpalllBaTh
10. crop (n)— cenbCKOXO35MCTBEHHAS KyJIbTYpa
11. breed (v)— pa3BoauThb

12. farm animal — fomarniHee >KMBOTHOE

13. crop production — pacTeHUEBOJICTBO

14. animal husbandry — >kuBOTHOBOZICTBO

15. develop (v) — pa3BuBath

16. plant (n)— pactenue

17. food (n)— numa, ema

18. agricultural (adj) — cenbCKOX03sIMCTBEHHBIN
19. apply (v) — npuMeHSTH

20. increase (n, v) — yBeJIMUEHHUE, YBEINUUBATh
21. use (v) — UCIIOIB30BATh

22. crop yield — ypoxxaiiHOCTh

O 0N N~ W=

1. Read and translate the following words.
Climate, region, tractor, combine, tendency, to mechanize, tradition, traditional,
bulldozer, machine, important, branch, to include, purpose, directly, technology.

2. Read and translate the text «What is agriculture?».
What is agriculture?

Agriculture is an important branch of economy. Economic growth of any
country depends on the development of agriculture. It supplies industry with raw
materials and people with clothing and food.

The Latin word «agre» means the cultivation of fields in order to grow crops.
Now agriculture also includes the use of land to breed farm animals.

People began to grow crops many thousand years ago. At present crop
production and animal husbandry are highly developed branches of agriculture.
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Life is impossible without plants. They play a very important role in everyday
life of people. Farm crops are plants grown by farmers. Most of them are used
directly as food for people, others are used in industry and medicine.

Our agricultural farms apply widely intensive technologies in order to increase
animal products and crop yields.

3. Answer the questions on the text.

1. Where are farm crops used?

2. Can you name two branches of agriculture?

3. Is the word «agre» a Latin word? What does this word mean?
4. Why is life impossible without plants?

5. Why is agriculture a very important branch of economy?

4. Insert the following prepositions: of, on, with, without, in, at, by.

1. Economic growth ... any country depends ... the development ... agriculture
which supplies people ... food and clothing and industry ... raw materials.

2. ... present crop production and animal husbandry are developed branches ...
agriculture.

3. Life is impossible ... plants.

4. Plants play an important role ... everyday life ... people.

5. Most ... them are used as food ... people and animals, others are used ... industry
and medicine.

6. Farm crops and plants are grown ... farmers.

5. Match the two parts to make up a sentence.

1. At present crop production and animal husbandry are ...

2. Economic growth of any country depends on ...

3. Our state and collective farms apply widely intensive technologies in order to ...
4. Most of them are used directly as food for people, others are used in ...

5. Now agriculture also includes the use of land to ...

6. The Latin word «agre» means ...

a. ... increase animal products and crop yields.
b. ... highly developed branches of agriculture.

C. ... the development of agriculture.

d. ... medicine and industry.

e ... the cultivation of fields in order to grow crops.
f. ... breed farm animals.

6. Make up a plan and retell the text.
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TEXT 2. The history of agriculture

1. Before you read the passage, talk about the questions.
1. When did farming first begin in your country?
2. What did farmers first grow in your country?

2. Scan the text «The history of agriculture» and find the meaning of the
underlined words.

3. Read the text «The history of agriculture» and get ready to do post-reading
exercises.

The history of agriculture

Agriculture began in the area known as the Fertile Crescent. The area is a
hot, dry desert. But it has two of the requirements for farming: good soil and a
water supply.

Many early farmers used the Nile River as a water supply. The Nile River
floods at the same time every year. Farmers planted crops before the floods. This
helped their plants to survive in the desert. Later, farmers created irrigation
ditches. They moved water from the Nile River to their fields. They could harvest
crops any time of the year and get extra food.

Producing extra food was important. Later, farmers fed animals with it.
These domesticated animals became another important part of agriculture.

4. Read the text «The history of agriculture». Then, mark the following
statements as true (T) or false (F).

1. __Crops cannot grow in deserts.

2. __The Nile River floods every year.

3. __Farmers raised animals before plants.

5. Match the words (1-6) with their definitions (a-f).
1. ___ agriculture

2.___crop

3. cultivate

4. produce

5. domesticate

6. plant

a. a large group of cultivated plants;

b. to put seeds in soil;

c. growing plants and raising animals;

d. to make something;

e. to raise a crop from seeding to harvest;
f. to tame an animal.
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6. Read the sentence pair. Choose where the words best fit the blanks.
1. water supply / irrigation
a. The river is the farmer’s

b. helps farmers grow crops in areas with little rainfall.
2. harvesting | farming
a. includes raising animals and crops.

b. Farmers wait until crops are mature to start

7. Translate the words and their derivatives.
agriculture (n) — agricultural — agriculturist (n)
fertile (adj) — fertility (n)

dry (adj) — dryness (n)

requirement (n) — require (v)

farm (n) — farming (n) — farmer (n)

flood (n) — flood (v)

plant (n) — plant (v)

irrigate (v) — irrigation (n)

harvest (n) — harvest (v) — harvester (n)
important (adj) — importance (n)

domesticate (v) — domestication (n)

. Translate the following sentences from Russian into English.
. MBI ucnosibs3yeM BOJIOCHAOKEHHE.
. Jlronu He BBDKUBAIOT B ITyCTHIHE.
. JItoqu co3ganu uppUrallioOHHbIE KaHAJbI.
. Bol yOpanu yposxaii?
. MBI MOKOPMUM KUBOTHBIX 3aBTpa.
. Pexa Huut BeixoauT u3 Geperos.
. OHa He ucnoJyib3yeT BoJ0OCHAOKEHHE.
. Pexa Huut BeixoauT uz 6eperon?
. OHM NOKOPMUJIM )KMBOTHBIX BUepa?
10. Onm co3panyT UppUrallMOHHBIE KaHAJBI B CJIEIYIOIIEM TOLY.
11. Pexa Huut BoImiia u3 6eperos B MpOILIOM roay?
12. Ona He noKOpMuUIIa )KUBOTHBIX BUEPA.
13. Onu yOepyT yposkait 3aBTpa.
14. OHM BBDKWIM B IIyCTHIHE.
15. OH OyneTr BbKUBATH B IMTyCThIHE?

O 001NN bk W — R

9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.
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11. Retell the text using a mind-map.
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SOIL

TEXT 1 Soil: definition, texture, conditions

VOCABULARY

1. land plant — HazemMHOE pacTeHue

2. ensure (v) — obecrieunBaTh, FapaHTUPOBATh

3. artificial manure — uckyccrBeHHoe y1o0OpeHue

4. supply (v) — cHaGXaTh, TOCTABIATh

5. derive (v) — oiry4aTh, U3BJICKATh

6. rock (n) — nopoja no4BeHHas

7. power (n) — ciocoOHOCTb

8. generation (1) — IOKOJIEHUE, TeHEpALIUS

9. symptom (n) — cumMnToM

10. exhibit (v) — mposiBIIATh, MOKa3bIBATH

11. agriculturist (n) — arpoHOM, 3eMiTeEINIelT

12. farmyard manure — HaBo3

13. soak (v) — BIUTHIBATH

14. drainage (n) — qpeHaxx, IPEHUPOBAHKE, OCYIIICHUE
15. remedy (1) — cpencTBo, Mepa (IIPOTUB YETO-T100)
16. defect (n) — mopok, nedexr

17. adequate (adj) — cOOTBETCTBYIOIINMA, aJICKBATHBII
18. nutrients (n, pl) — nTuTaTENbHBIC BEIIECTBA

1. Read and translate the following words.
Surface, substance, previous, support, fertile, exhibit, remedy, sufficient, moisture,
improve, regularly, irrigation, evaporation, manure, soak, ensure, cultivation, adequate.

2. Read and translate the text «Soil: definition, structure, conditions.
Soil: definition, structure, conditions

Soil is surface layer of the earth on which land plants grow. It is made of
the mineral substances derived from the rock, and the organic substances derived
from previous generations of plants.

The fertility of the soil is its power to support plant life. No soil is perfectly
fertile. The problem of the agriculturist is to study the soil and the symptoms
exhibited by the plant, to discover the defects and to find suitable remedies.

A fertile soil has sufficient depth to allow full root development. Depth of
soil can be improved by deep cultivation or drainage to lower water level. A good
soil must supply sufficient moisture regularly. Water supply can be improved by
irrigation and by reducing loss of water. We know that a fine layer of soil on the
surface reduces evaporation. Also the presence of organic matter, e.g. farmyard
manure, increases the power of absorbing water and prevents it from soaking
through the soil. Temperature of the soil is usually best improved by drainage. Air
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supply is ensured by adequate cultivation and by drainage. Nutrients are
supplied in artificial manures. The use of fertilizers in proper amounts and at the
most suitable time may greatly increase yields.

0NN b~ Wi — W

4
1
2
3.
4
5

. Answer the questions on the text.

. What is soil?

. What is soil made of?

. The fertility of the soil is its power to support plant life, isn’t it?
. What is the problem of the agriculturist?

. What allows full root development?

. Why is drainage done?

. What way can water supply be improved?

. What reduces evaporation?

. Insert the following prepositions: of, on, with, without, in, at, by.

. Soil is the surface layer ... the earth ... which land plants grow.

. Water supply can be improved ... irrigation or ... reducing loss ... water.

A fine layer ... soil ... the surface reduces evaporation.

. Nutrients are supplied ... artificial manures.

. The use ... fertilizers ... proper amount and ... the most suitable time may greatly

increase yields.

5
1
2
3
4
5
6

6

a
b
C
d. ...
d
e
f

. Match the two parts to make up a sentence.
. Soil 1s made of the mineral substances ...

. The problem of the agriculturist is ...

. A fertile soil has sufficient depth ...

. Water supply can be improved by ...

. The presence of organic matter increases ...

. Air supply is ensured by ...

. ... 1rrigation or by reducing loss of water.

. ... the power of absorbing water.

. ... derived from the rock.

study the soil and the symptoms exhibited by the plant, to discover the
efects and to find suitable remedies.

. ... adequate cultivation and by drainage.

... to allow full root development.

. Make up a plan and retell the text.
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TEXT 2. Cultiadvice

1. Before you read the passage, talk about these questions.
1. What kind of soil is there in your country?
2. Why is good soil important?

2. Scan the text «Cultiadvice» and find the meaning of the underlined words.
3. Read the cultiadvice.

Dear Green Thumb:
My tomatoes are dying. They get plenty of sun and water. What am I doing
wrong?

Tom G.

Dear Tom:

Check the soil. Tomato roots need the right amount of water and air. They
don’t do well in sand and clay. Both have the wrong soil structure. Sand particles
are too loose to hold enough water. Dense clay prevents aeration. You need a soil
texture in between those extremes. Loam with high silt is usually good. The other
issue is nutrients. A soil’s parent material determines what nutrients are in it.
You can improve the nutrients by adding humus.

4. Read the newspaper advice column. Then, mark the following statements as
true (T) or false (F).

1. __ Tomatoes grow in clay well.

2. __ Aeration does not occur in clay.

3. Humus adds nutrients to soil.

5. Fill in the blanks with the correct words and phrases from the word bank:
aeration, clay, loam, humus, soil structures.

1. Some hold more water than the others.
2. Crops don’t grow well in pure soil.

3. Use to add nutrients to soil.

4. provides roots with air.

5. is a mix of three soil types.

6. Match the words (1-6) with the definitions (a-f).
1. soil

2. _sand

3. silt

4. soil texture

5. __parent material

6. __dense
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a. a material made of small pieces of rock and mineral
b. a material that is deposited by water

c. rock and materials that eventually form soil

d. a layer of material that plants grow in

e. the size of particles in a soil

f. having a lot of material in a small space

7. Translate the words and their derivatives.
water (n) — water (v)

air (n) — air (v)

sand (n) — sandy (adj)

dense (adj) — density (n)

determine (v) — determination (n)

improve (v) — improvement (n)

. Translate the following sentences from Russian into English.
. OHM HE TOJIy4al0T MHOTO ypOXKasl.

. OHa npensTCcTBOBAJIa HABOJIHEHUIO.

. [TouBa 13 una He yIepKUBAET MHOTO BO/JIBI.

. [IouBa nmeert aspannto?

. MBI no06aBsieM rymyc.

. S ynydiaro aspanuio.

. MBI yIIy4Ivim aj3panuio.

. OHM HE TPensATCTBOBAIN HABOAHEHUIO.

. [louBa u3 una He yaepxana BOay.

10. OHa He noJiy4rsia MHOTO ypoOKas.

11. OHu ynydiuat aspanuio B CIEAYIOIIEM TOY.
12. OHM NpensITCTBYIOT HABOAHEHUIO?

13. DTa nouBa HE UMEET a’dpalui.

14. Onu noGaBUIM TYMYC.

15. OH noxy4uT ypoxkail B CleayromeM roay?

O 001NN P~ W — R

9. Write the theses on the content of the text

10. Highlight a subproblem for each problem.
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11. Retell the text using a mind-map.

humus

sandy soil

_  soil structure .. dense clay

~ loam with high st
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SEEDS

TEXT 1. Seeds: parts and germination

VOCABULARY

1. germ (n) — 3apopIi

2. embryo (n) — SMOPHOH, 3aPO/IBIIII

3. endosperm (71) — 3HI0CTIEPM

4. cotyledon (n) — ceMsmons

5. viability (n) — )xu3HECITOCOOHOCTH

6. swell (v) — Habyxatb, pa30yxarh

7. reproductive part (or reproductive organ) — opraibsl pa3MHOKEHUS
8. embryonic (adj) — SMOpHOHATIBHBIH, 3aPO/IBIIIEBBIN

9. dormant state — coctostHU€ TOKOsI (CEMEHU, PACTCHHMS )
10. germinate (v) — npopacraTb

11. seed coat — cemenHast 000JI0UKa

12. oats (n) — oBec

1. Read and translate the following words.
Ordinarily, embryonic, cereals, legumes, cotyledon, sufficiently, viable, storage,
species, viability, moisture content, vitality, thoroughly air-dried, mature.

2. Read and translate the text «Seeds: parts and germinationy.
Seeds: parts and germination

Ordinarily a plant 1s divided as follows: a) root system, b) stem and leaves,
and c) a reproductive part made up of flowers, fruits and seeds.

The seed. A seed must be looked upon as an embryonic plant of the new
generation with enough stored food to start it off in life and seed coats for protection.
Thus a seed consists of: a) an embryo or a germ, b) the food supply stored either
inside the embryo or, as with cereals, around it on the outside, in which case it is
called the endosperm, c) one or more seed coats surrounding and protecting the
other parts. Some seeds as those of legumes do not contain an endosperm, the entire
supply of food in them being stored inside the embryo in its seed leaves or
cotyledons. Thus, in the seed the plant stores up food to be used at some future time.
It is on this stored food that a young plant feeds until it is sufficiently developed to
provide food for itself.

Germination. The dry seeds being placed under favourable conditions, the
young dormant plant begins to grow. This change from a dormant state to one of
activity i1s known as germination. For seeds to germinate well they should be well
developed and have high viability. The length of time during which the seed
remains viable depends on the species and the storage conditions as well, the
maximum period for most species varying from 2 to 10 years. The main factor
affecting the viability of seeds is their moisture content. For seeds to retain their
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vitality well they should be thoroughly air-dried as soon as mature and kept in a dry
place.

For germination to occur three conditions are necessary: sufficient heat,
moisture and air should be present. Unless all three of these conditions are met, the
seed will not germinate property. The amount of required heat will vary with the
kinds of seeds. Some seeds, as those of clover and oats, will grow at a rather low
temperature while the temperature requirement of corn seeds is higher.

The moisture absorbed by the seed causes the entire seed to swell. This
along with the beginning of the growth of the embryo results in ever-increasing
pressure on the seed coat. The pressure having become sufficiently great, coat
bursts and the embryo sends its first root down into the soil and its first stem up
into the air. Since growth during the early stages is greater in the root, it is usually
the first part of the plant to break through the seed coat.

. Answer the questions on the text.

. How is a plant ordinarily divided?

. How is a seed looked upon?

. What does a seed consist of?

. What is an endosperm?

. What is a cotyledon?

. When does a young dormant plant begin to grow?

. What is called germination?

. What is the length of time during which the seed remains viable?
. What is the main factor affecting the viability of seed?

10. What conditions are necessary for germination to occur?

11. Is the amount of required heat the same for all kinds of seeds?

O 001NNk LN =W

4. Insert the following prepositions: of, with, at, under, in, on, inside, during.

1. A seed must be looked upon as an embryonic plant ... the new generation ...
enough stored food to start it off ... life.

2. ... legumes the entire supply of food is stored ... the embryo ... its seed leaves or
cotyledons.

3. ...the seed the plant stores up food to be used ... some future time.

4. When dry seeds are placed ... favourable conditions, they begin to grow.

5. The length ... time ... which the seed remains viable depends on the species

and the storage conditions as well.

5. Match the two parts to make up a sentence.

1. The plant is divided into ...

2. Aseedis ...

3. Germination is...

4. For seeds to germinate well they should be ..

5. The main factor affecting the viability of seeds is ...

6. For germination to occur three conditions are necessary: ...
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.. an embryonic plant of the new generation.

.. the root system, stem and leaves, and the reproductive part.
.. sufficient heat, moisture and air should be present.

.. their moisture content.

.. well developed and have high viability.

.. a change from a dormant state to one of activity is known.

e a0 o

6. Make up a plan and retell the text.
TEXT 2. Seeds of hybrid broccoli

1. Before you read the text «Seeds of hybrid broccoli», talk about these
questions.

1. How do farmers plant seeds?

2. What do seeds need to grow?

2. Scan the text «Seeds of hybrid broccoli» and find the meaning of the
underlined words.

3. Read the page from the Gardener’s Seed catalog and translate.
Seeds of hybrid broccoli

Cold-weather hybrid broccoli. Bred for superior seed vigor. Seedlings
survive in temperatures down to 37 F.

Germination: Soak seeds in water overnight to remove hard coats and end
dormancy. Place in 70 F soil to germinate.

Location: Sow in a place that gets full sun.

Sowing method: Use a pen or similar shaped object to prepare holes 0.5
deep, 2 cm apart. Drop one seed per hole. Cover with soil. Water.

Days to sprout: 7-14

Days to maturity: 58

Harvest: Cut buds before they flower.

Price: $ 0.5/ 100 g. packet

Bulk orders of 100 or more receive a discount of 10%

4. Read the text «Seeds of hybrid broccoli». Then, mark the following
statements as true (T) or false (F).

1. __ The seedlings can survive below 37 F.

2. The broccoli seeds have hard coats.

3. __ The seeds will sprout within two weeks.

5. Match the words 1-6 with the definitions (a-f).
1. _ hard coats
2. __germinate
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3. __seedling
4. _ seed vigor
5. __hybrid

6. _ sow

a. the firm outer layer of seeds

b. to sprout from a seed

c. to plant seeds

d. made by parents of different breeds

e. a young plant

f. the strength and survivability of a seed

6. Write a word that is similar in meaning to the underlined part.
1. Farmers plant small objects from which plants grow in the spring.

s__d_
2. Each plant has a different number of days until it can be harvested.
d___ t_ m______ y

3. Some plants require special ways in which seeds are planted.
ow me

4. To plant a large crop, you need a large quantity order of seeds.
b__k

5. Some plants produce seeds that pass the winter in an inactive state.
_or____y

7. Translate the following words and their derivatives.
seed (n) — seedling (n)

germinate (v) — germination (n)

sow (v) — sowing (n)

dormant (adj) — dormancy (n)

sprout (n) — sprout (v)

mature (adj) — maturity (n)

active (adj) — inactive (adj)

place (n) — place (v)

survive (v) — survivability (n)

. Translate the following sentences from Russian into English.
. [ToueMy ThI 3aMaunBacnIb ceMeHa?

. Korna onu nocesuin nueHuIry?

. [ToueMy BBI fnenaere JTyHKU?

. Uro naroT cessHUBI?

. Kakoii MmeTo1 mocajgku Bbl UCHIOJIb3yeTE?

. Kakoe nokpeiTue umeror ceMeHna?

. Korga onn 3amouat cemeHna?

. I'te oHn noceroT nueHuiy ?

01NN kA~ W — L
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9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.

11. Retell the text using a mind-map.

remove
hard coats
Germination tind qormancy S
e . seed vigor
i Characteristics
prepare holes el - temperatures
Sowing  dropaseed downto 37 F
method  cover with soil SEEDS OF
water HYBRID
BROCCOLI
; tin a sunny davs t
location  P* ays to
: place sprout: 7-14
- days to
Harvesting maturity: 58
cut buds before

they flower
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WATER

TEXT 1. Water for soil

VOCABULARY

. deprive (v) — numath

.lack (v) — ucnpIThIBaTh HEIOCTATOK, HYKAAThCsl, HE UMETh
. wilt (v) — BAHYTb

. cease (v) — mpeKpaiarh, IepecTaBaTh

. means (n) — CpeJiCTBO

. failure (n) — Heynaua

. arid (adj) — cyxoit

. crucial (adj) — xputnueckuit

. moderate (adj) — ymepeHHbII

10. humid (adj) — BnaxubIit

11. scant (adj) — ckyaHbIi, HEIOCTATOYHBIN, OTPAHUYEHHBIN
12. prevent (v) — mpegoTBpaiaTh

13. capillary rise — KanWUIAPHBIN MTOBEM (BOJIBI B TIOUBE)
14. moisture conservation — HakoOIJIEHUE BJIaru

15. constitute (v) — cocTaBIISITh

16. stir (v) — pbIXJIUTh, PA3PBIXJIATH TOYBY

17. saturated soil — HacbIlIeHHAs TOYBA

18. soil mulch — mynpunpyromuii ca0i MOYBEI

19. check (v) — 3anepxxuBarh, NPeNATCTBOBAThH

20. precipitation (n) — BbilaieHue aTMOC(HEPHBIX OCAJIKOB
21. secure (v) — o0ecrieunBaTh

22. free water surface — cB0001Hast BOJIHAsI TOBEPXHOCTh
23. growing season = vegetational season — nepuo/1 BereTanuu

O 0N N~ W -

1. Read and translate the following words.

Deprive, cease, yield, particular, determine, moisture conditions, carefully,
thoroughly, failure, crucial, during, moderate, humid, absolutely, previously,
sufficient, evaporation, surface, air humidity, altitude, evaporation, arid, surface,
saturated soil, disturbed area, quantity, securing.

2. Read and translate the text «Water for soil».
Water for soil

Should a plant be deprived of food, it would live for considerable time, but
should lack water, it would very soon wilt and cease to grow. The yield of crops
during any particular year is usually determined by the moisture conditions during
the period of growth.

Among the factors connected with agriculture the water in the soil is one to
be most carefully studied and most thoroughly understood.
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The control of moisture through known means may determine the success

Failure of crops in arid regions during a crucial period, and during the other
periods of their growth it means the difference between a moderate and a good
yield.

Even in humid climates it is absolutely necessary to store as much as
possible of the water that falls because rainfall may be often scant during some
parts of the growing seasons, and as plants draw heavily upon the water
previously stored in the soil, there may not be sufficient moisture to produce
Crops.

Evaporation from the soil is affected by the same factors as that from a water
surface. Heat, wind, sunshine, air humidity, and altitude all play their part.

Evaporation from a free water surface in arid and semi-arid regions ranges
from about 35 to 60 inches during the growing seasons whereas the total yearly
rainfall in these regions is only from 3 to 30 inches. Should this rainfall be allowed
to remain near the surface of the soil, it would evaporate at about the same rate as
from a free water surface. The problem of moisture conservation is that one must
prevent the capillary rise and consequent evaporation of the water. The former is
very slow in dry soil and taking advantage of this fact constitutes the most
practical means for preventing the latter.

Having stirred the upper three inches of a saturated soil, one may cause the
disturbed area to form a soil mulch which effectively checks further loss of
moisture from below.

The quantity of moisture in the soil is largely due to the nature of the soil as
well as to the precipitation of that region. The rainfall cannot be influenced by the
man, but one can do much to save water after it falls.

Thus, it is highly important that a farmer pay proper attention to securing
the best possible moisture conditions when raising his crops.

3. Answer the questions on the text.

1. What happens if a plant lacks water?

2. What is the yield of crops usually determined by?

3. What may the control of moisture determine?

4. Why is it necessary to store as much water as possible even in humid
climates?

5. What influences evaporation from the soil?

6. How much does the evaporation range from a free water surface in arid and
semi-arid regions?

7. What is the total yearly rainfall in these regions?

8. What does moisture conservation consist of?

9. What is the role of soil mulch?

10. What does a quantity of moisture in the soil depend on?

11. What is highly important when raising crops?
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4. Insert the following prepositions: of, in. by, near, through, upon, at, from,
during.

1. Should this rainfall be allowed to remain ... the surface ... the soil, it would
evaporate ... the same rate as ... a free water surface.

2. Evaporation ... the soil is affected ... the same factor as that... a water surface.

3. The yield ... crops is usually determined ... the moisture conditions ... the periods
of growth.

4. The control ... moisture ... known means may determine the success or failure ...
Crops.

5. Plants draw heavily ... the water previously stored ... the soil.

. Match the two parts to make up a sentence.

. Evaporation from the soil is affected ...

. The yield of crops during any particular year is usually determined ...
. Even in humid climates it is absolutely necessary to store ...

. The problem of moisture conservation is that ...

. It 1s highly important that a farmer pay proper attention to ...

. The quantity of moisture in the soil is largely due to ...
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.. one must prevent the capillary rise and consequent evaporation of the water.
.. securing the best possible moisture conditions.

.. by the moisture conditions during the period of growth.

.. water as much as possible.

.. the nature of the soil.

.. heat, wind, sunshine, air humidity, and altitude.

o a0 o

6. Make up a plan and retell the text.

TEXT 2. Drought in the Italian region Calabria

[

. Before you read the passage, talk about these questions.
. Where do farmers get water?
2. How do water shortages hurt farmers?

[E—

2. Scan the text «Drought in the Italian region Calabria» and find the
meaning of the underlined words.

3. Read the article from the San Fernando Sun newspaper. Then, choose the
correct answers.
Drought continues

SAN FERDINANDO — The Central Valley’s current drought is the worst
in 50 years. It started five years ago. Average rainfall in the valley is down 35%.
Less rainfall in the mountains also limits the water cycle in this already arid
region as well.
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Many rain-fed crops are dying. Recently, many farmers dug ditches to
irrigate them. They used extra groundwater from their wells, too. Many experts

say that will create water shortages in the future.

\Y%

4

Expect higher prices for many fruits and vegetables this summer. Peaches
and nectarines are an exception. Local farmers are growing drought-resistant

arieties of these crops.

. Read the article from the San Fernando Sun newspaper. Then, choose the

correct answers.

1
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. What is the article mostly about?
. a crop shortage

. a lack of rainfall

. new irrigation methods

. new types of crops

. According to the article, what will cause a water shortage in the future?

. raising rain-fed crops

. using extra groundwater

. farming in arid locations

. planting crops in the mountains

. What is true of the peaches and nectarines?
. They will not be damaged by the drought.

. They will be more expensive this year.

. They will need more water than most fruits.

. They will be grown by out of town farmers.

. Read the sentence pair. Choose where the words best fit the blanks.
. ditch / groundwater

. Irrigate the crops by digging a

. Areas with a lot of are ideal for farming.

. shortage / rainfall

. With so much , Dawn didn’t have to water her plants.

. Many crops died due to the water

. rain-fed / drought-resistant

. Linda prefers crops since she lives in an arid region.

. Andrew doesn't irrigate; his crops are

. Match the words (1-4) with the definitions (a-d).
___water cycle

__drought

__arid

__lrrigate
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a. to guide water to plants

b. the pattern of water moving and changing form
c. receiving little rainfall

d. a period of unusual dryness

7. Translate the words and their derivatives.
dry (adj) — dryness (n)

rain (n) — rainy (adj)

rain+fall=?

water + cycle =

irrigate (v) — irrigation (n)

ground + water=

short (adj) — shortage (n)

8. Write the theses on the content of the text.
9. Highlight a subproblem for each problem.

10. Retell the text using a mind-map.

igher prigs mwmmem

5 years aQ0
DROUGHT IN THE THE ITALIAN

REGION CALABRIA it of eyt oyl

{1095 are dying
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CEREAL CROPS

TEXT 1. Wheat: species, texture, harvesting

VOCABULARY

1. grain (n) — 3epHoO

2. grind (ground) (v) — MOJIOTHUTH

3. flour (n) — myka

4. approximately (adv) — npubIM3UTENHLHO
5. species (n) — Bu

6. genus (n) — po, COpT, BUJL

7. grass family — cemelicTBO 371aKOBBIX

8. slender (adj) — Tonkuit

9. variety (n) — Bu, pa3HOBUJIHOCTH

10. hollow (adj) — nonsrit

11. stem (n) — cTBOII, cTEOCD

12. top (v) — BeHUaThH

13. spike (n) — xomnoc

14. aggregation (n) — ckorieHue, Macca

15. flower cluster — couperue

16. spikelet () — KOJIOCOK; BTOPUYHBII KOJIOCOK (Y 3JIaKOB)
17. fertilized flower — or1040TBOPEHHBII LIBETOK
18. edible (adj) — cbenoOHBII

19. germinate (v) — npopacTaTh

20. seedling (n) — cesHel, caykeHEIl

21. mature (adj) — 3penblii, CO3pEBIIHI

22. sickle (n) — cepn

23. chaff (n) — maxuna

24. reaper (n) — ’aTka

25. discharge (v) — BeITpyXaTh

26. self-propelled (adj) — camonBmxymuiics

1. Read and translate the following words.
Ground, mature, species, variety, fertilized flower, aggregation, spikelet, germinate,
grind, cluster, bread, discharge, edible, hollow.

2. Read and translate the text « Wheat: species, texture, harvesting».
Wheat: species, texture, harvesting
Wheat is one of the oldest and most important cereal crops. Wheat is grown
for its grain, which is ground into flour used to make breads and pastas. Wheat

consists of approximately 20 species in the genus Triticum of the grass family
(Poaceae). The most important wheats are: Triticum aestivum, used to make
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bread; T. durum, used to make pasta; and T. compactum, used to make softer
cakes, crackers, cookies, and pastries.

Wheat plants have slender leaves and, in most varieties, long hollow stems.
Each stem is topped by a single head or spike, which is an aggregation of 20-100
individual flower clusters called spikelets. Each flower cluster may contain up to
six flowers, and each fertilized flower produces a single, edible grain.

Winter wheats are planted in the fall and germinate before winter. The
seedlings can survive cold winter temperatures — in fact, the low temperatures are
needed for proper growth and development of the grain. The seedlings start
growing again in the spring as soon as the frost is out of the ground, and by late
spring the mature plants are ready for harvest. In contrast, spring wheats are
planted in the spring and harvested in the fall.

For thousands of years, wheat was harvested using a sickle, and then
threshed, or beaten, to separate the grains from the heads and flower parts (chaff).
In the first half of the 1800s, the reaper was developed, which mechanized cutting
and greatly reduced the amount of labor required. Nowadays, cutting the standing
plants, threshing the heads, separating the grain from the chaff, cleaning the grain,
and discharging it into bags, are all combined in a large, self-propelled machine
called a combine.

. Answer the questions on the text.

. Which cereal crop is the oldest and most important?

. Why do farmers grow wheat?

. How many species of wheat are there?

. What are the most important wheats?

. What does a wheat plant look like?

. Are winter wheats planted in the fall or in the spring?
. How could ancient farmers harvest wheat?

. How do modern famers harvest wheat?

0NNk~ W~ W

. Insert the adequate prepositions: for, of, by, up, in, before.

. Each flower cluster may contain ... to six flowers.

. Each stem 1s topped ... a single head.

. Wheat consists ... approximately 20 species.

. Wheat is grown ... its grain.

. Winter wheats are planted ... the fall and germinate ... winter.

(S S NUST O R *N

. Match the two parts to make up a sentence.

. Triticum aestivum is used to ... .

. T. durum is used to ...

. The reaper was developed ...

. Nowadays all harvesting operations are operated by ...
. T. compactum is used to make ...

. Spring wheats are planted ...

AN B W N — W
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.. softer cakes, crackers, cookies, and pastries.
.. in the first half of the 1800s.

a. ... in the spring and harvested in the fall.

b. ... a large, self-propelled machine called a combine.
C. ... make bread.

d. ... make pasta.

e. .

f..

6. Make up a plan and retell the text.
TEXT 2. Farmer’s diary

1. Before you read the passage, talk about these questions.
1. What cereal crops do you usually grow in your region?
2. Do you get yield once or twice a year?

2. Scan the text «Farmer’s diary» and find the meaning of the underlined
words.

3. Read the text «Farmer’s diary» and get ready to do post-reading exercises.
Farmer’s diary

— September starts with presowing treatment of wheat seeds, soil
cultivation (plowing with cultivation or disking).

— In the 3rd decade of September or October farmers sow wheat.

— Late October-November, there takes place emergence of seedlings
depending on the presence of moisture in the soil

— November and December are characteristic of tillering.

— January and February are characteristic of yarovization of seed, wheat
plants do not grow.

— The end of February is characteristic of spring vegetative reproduction,
tillering.

— At the end of March there appears the first internode. But it depends on
the weather.

— At the beginning of April there takes place the first herbicide treatment.
The wheat plant develops the second internode.

— The 3" decade of April is characteristic of initial stem elongation.

— May is characteristic of winter wheat treatment on the flag leaf.

— June (the first or the second decades) is characteristic of milky-wax
ripeness of wheat.

— At the end of June-July farmers harvest winter wheat.

— After harvesting farmers do disking the soil to preserve soil moisture.


https://translate.academic.ru/stem%20elongation/ru/en/
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. Read the text «Farmer’s diary». Then, mark the following statements as

true (T) or false (F).

1.
2.

3

O 01O\ N W~ W

a
b
C
d
c..
...
g
h
i
i
k

6
1
2
3
4
5.
6
7
8
9
|

__Soil cultivation includes plowing with cultivation or disking.
__ Yarovisation of seed takes place in the wintertime.
__ Milky-wax ripeness appears in July.

. Place the following agricultural activities in the correct order.
. emergence of seedlings

. presowing processing of wheat seeds

. tillering

. spring vegetative reproduction

. the first herbicide treatment

. the first internode

. yarovization of seed

. using herbicides, fungicide, urea

. the second internode

. Match the two parts to make up a sentence.
. In September ...

. In the 3rd decade of September or October ...
. Late October — November ...

. November and December ...

January and February ...

. The end of February ...

. In March ...

. At the beginning of April ...

.May ...

0. June is characteristic of ...

.. there takes place the emergence of seedlings

.. there takes place sowing wheat seeds.

.. farmers are busy with presowing processing of wheat seeds
.. are characteristic of tillering.

.. 1s characteristic of winter wheat treatment on the flag leaf.
1s characteristic of spring vegetative reproduction.

.. milky-wax ripeness of wheat.

.. there appears the first internode.

.. are characteristic of yarovization of seed.

... using herbicides, fungicide, urea

. ... the wheat plant develops the second internode.
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7. Translate the words and their derivatives
sow (v) — sowing (n) — presowing (n)
prepare (v) — preparation (n)

plow (v) — plowing (n)

disk (n) — disking (n)

fertilize (v) — fertilizer (n)

emerge (v) — emergence (n)

seed (n) — seedling (n)

moist (adj) — moisture (n)

till (v) — tillering (n)

reproduct (v) — reproduction (n)

freeze (v) — frozen (adj)

feed (v) — feeding (n)

treat (v) — treatment (n)

grow (v) — overgrow (v) — overgrown (adj)
restore (v) — restoration (n)

8. Translate the following sentences from Russian into English.
1. IlepBoe MexI0y3/11e NOABISIETCS B MapTe.

2. Benamka npou3onuia Buepa.

3. @epmepbl OCEIOT MILIEHUILY B TPETHEH IeKaZe CEHTIOpSI.

4. Korza nosiBIsieTCs BTOPOE MEXKIA0Y3IUe?

5. PacTenune He pa3BUBAETCSA 10 BTOPOTO MEXKAOY3IIHUS.

6. Jly1st Mast He XapaKTepHO MOSBIEHNE MOJIOYHO-BOCKOBOM CIIENIOCTH Y TIIICHUIIBI.
7. ®epMepbl IOCESHN IPOBYIO IMILIEHUITY BECHOM.

8. @epMepnl OyayT 0OpabaThIBaTh CEMEHA MITICHUIIBI ?

9. PocT nieHuIbl OyAeT 3aBUCETh OT MOTOAbI.

10. @eBpasib XapaKTepU3yeTCs SIPOBU3ALIMEIN CEMSH.

9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.
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11. Retell the text using a mind-map.

i presowing treatment
' soil cultivation

September

spring vegetative [the end of
reproduction | February

September-
October

. wheat sowing

the first internode the end of October- -. errslzgg;irrl]oz of
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ey WA November-|
SO Aol December
initial stem |

treatment on the
flag leaf

. yarovisation of seed

June . milky-wax ripeness
June-Jul harvesting

| winter wheat




32
FERTILIZERS

TEXT 1. Fertilizers for small grains

VOCABULARY

. nitrogen (n) — a3ot

. phosphorus (1) — pocdop

. potassium (n) — kanui

. in the band at planting — neHTo4YHO MpU MoOceBe
. variety (n) — copT

. rate (n) — Hopma

. yield (n) — ypoxxaiiHOCTb

. long-season crop — mo3gHecnenas KyJabTypa
. small grains — MeTKO3epHHUCTBIE KYJIbTYPhI
10. barley (n) — ssameHb

11. remainder (n) — ocTaTox

12. tillering stage — cTaaus KyleHus

13. obtain (v) — nomy4aTh

14. topdress (v) — nonkapMiIuBaTh

15. soil pH — pH nouBsl

OO0 JON N B~ W=

1. Read and translate the following words.
Nitrogen, variety, phosphorus, potassium, yield, manure, efficient, remainder, forage,
require.

2. Read and translate the text «Fertilizers for small grainsy.
Fertilizers for small grains

Small grains should have some nitrogen, most of the phosphorus, and
possibly some potassium in the fertilizer band at planting. The higher nitrogen
rate is for the shorter varieties; use the lower nitrogen rate on the taller varieties.
When farmers want to get maximum yields of wheat or barley, the nitrogen rates
can be increased to 80 to 90 pounds per acre.

When considering manure application options, the nitrogen from manure is
generally more effectively used when applied for corn, sorghum, or other long-
season crops than for small grains.

Winter wheat and barley should have 10 to 20 pounds of nitrogen applied in
the band at planting, and the remainder should be applied in early spring after the
crop has begun to grow and is in the tillering stage.

Spring oats or barley can be seeded with all the nitrogen in the band, but
more efficient use of the nitrogen can be obtained if some is topdressed in late
May or early June.
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If the small grains are to be forage seeded, a larger quantity of phosphorus

and potassium is required.

The soil pH for oats should be about 6.0, whereas the pH for wheat and

barley should be 6.3 or above.

O 00 1O\ W — W
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. Answer the questions on the text.

. What fertilizers do you know?

. What varieties should get the higher nitrogen rate?

. What varieties should get the lower nitrogen rate?

. What crops is the nitrogen from manure generally more effectively used for?

. How many pounds of nitrogen should winter wheat and barley have?

. What are the methods of applying fertilizers when seeding spring oats or barley?
. How much phosphorus and potassium is required for small grains?

. What is the soil pH for oats?

. What is the soil pH for wheat and barley?

. Insert the adequate prepositions: per, of, to, in, with, in, in, above.

. Spring oats or barley can be seeded ... all the nitrogen ... the band.

. The crop has begun to grow and is ... the tillering stage.

. The pH for wheat and barley should be 6.3 or ... .

. The remainder should be applied ... early spring.

. When farmers want to get maximum yields ... wheat or barley, the nitrogen

rates can be increased ... 80 to 90 pounds ... acre.

3.
1.
2.
3.
4.
5.
6.

6.

mo Ao o

Match the two parts to make up a sentence.

The higher nitrogen rate is ...

The lower nitrogen rate is ...

There are such fertilizers like ...

The fertilizer is applied in ...

A larger quantity of phosphorus and potassium is required for ...
The soil pH for oats should be ...

.. about 6.0.

.. nitrogen, phosphorus, potassium, manure.
.. for the shorter varieties.

.. for the taller varieties.

.. the band at planting.

.. small grains to be forage seeded.

Make up a plan and retell the text.
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TEXT 2. Fertilizer application

1. Before you read the passage, talk about these questions.
1. What fertilizers do you know?
2. When do farmers start applying fertilizers?

2. Scan the text «Fertilizer application» and find the meaning of the
underlined words.

3. Read the text «Fertilizer application» and get ready to do post-reading
exercises.

Fertilizer application

— In the 3rd decade of September or at the beginning of October farmers sow
wheat with fertilizers — ammophos or diammophoska.

— At the end of February there takes place the first ammonium nitrate
topdressing in frozen and thawed soil.

— In March farmers deal with the second nitrate topdressing.

— At the beginning of April there takes place the first herbicide treatment.
When there are overgrown plants, farmers do not have to use any herbicides. If
autumn and winter are warm, then a fungicide (against diseases) should be added
to the herbicide. A complex of amino acids and microelements is also added to
restore plants after stress and frost.

— In April farmers apply a fungicide if it wasn’t used at the tillering stage.
And then they add 10 kg of urea per hectare and foliar application. The urea rate is
less than the first time in order not to burn the plants. Sulfur is added because it
affects the quality of the planted crop. But sulfur only works with a high nitrogen
rate. Each crop has microelements. Its deficiency leads to a decrease in yield and
product quality: farmers apply sulfur for wheat, boron for sunflower and zinc for
beetroot.

— In May farmers apply a fungicide to protect the spike from disease, and an
insecticide to protect the grain from pests. 5-10 kg of urea per hectare is added to
decrease nitrogen deficiency and foliar application (amino acids and
microelements).

— In June farmers apply insecticides if there are many pests, such as a corn
bug or a leech. In this phase 10 kg of urea per ha increase in wheat protein.

— At the end of June or at the beginning of July farmers harvest winter
wheat.

— After harvesting farmers do disking the soil to preserve soil moisture.
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4. Read the text «Fertilizer application». Then, mark the following statements
as true (T) or false (F).

1. __ Ammophos or diammophoska are seeded at planting in the 3rd decade of
September or at the beginning of October.
2. __ If winter is cold, a fungicide must be added to the herbicide.

3. __ Insecticides are applied against pests.

. Place the following farm activities in the correct order.

. the second nitrate topdressing

. a fungicide application at the tillering stage

. sowing wheat with fertilizers — ammophos or diammophoska
. the first herbicide treatment

. the first ammonium nitrate topdressing

. an insecticide application

. a fungicide application

N O\ Ut W — U

. Match the two parts to make up a sentence.

. In September ...

. At the end of February ...

. In March ...

. At the beginning of April ...

.In May ...

. June is characteristic of ...

. The end of June and the beginning of July are characteristic of ...

~N N DN B~ W= QN

.. farmers are busy with sowing wheat with ammophos or diammophoska
.. harvesting winter wheat.

.. takes place a fungicide application.

.. there takes place the second nitrate topdressing.

.. there takes place the first ammonium nitrate topdressing

... using herbicides, fungicide, urea.

. ... there takes place the first herbicide treatment

e o o

7. Translate the words and their derivatives.
fertile (adj) — fertilizer (n)
freeze (v) — frozen (adj)
topdress (v) — topdressing (n)
treat (v) — treatment (n)
overgrow (v) — overgrown (adj)
frost (n) — frosty (adj)

till (v) — tillering (n)

apply (v) — application (n)
deficient (adj) — deficiency (n)
increase (n) — increase (v)
moist (adj) — moisture (n)
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8. Translate the following sentences from Russian into English.

1. ®epmep nocesst NIICHUILY B CEHTSOpe.

2. MbI rcnionib3yeM MepBYIO MOJAKOPMKY U3 HUTpaTa aMMOHUS B (peBpaiie.
3. 3aueM Qepmepbl UCTIOB3YIOT (PYHTUIIUIBI B anipesie?

4. ®epmepsl HE MPUMEHUIN KACIOTHl 1 MUKPOAJIEMEHTHI.

5. Jdedunur a3ota nmpuBei K CHUKEHUIO YPOKAITHOCTH.

6. Korna gpepmeps! npuMeHstoT cyabdart?

7. @epmepbl He TPUMEHSIOT OOp IS TOACOTHEYHUKA.

8. CKOJIbKO MOYEBUHBI HYKHO (pepMepaM Ha rexrap?
9. ®epmepbl MPUMEHST NECTULIAIBI B MaE.
10. Korma ¢gepmepsl yOuparoT 03uMyt0 TIIICHUITY?

9. Write the theses on the content of the text.
10. Highlight a subproblem for each problem.

11. Retell the text using a mind-map.

higher pi the worstin 90 years

drought-esistant vare DROUGHT IN THE
THE [TALIAN
REGION CALABRIA

fjeas e

it te wter cycl
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PLANTING

TEXT 1. Planting the seed

VOCABULARY

. plant food — numa pacTeHus, MUTATEIbHBIC BEIIIECTBA JIJIs1 PACTECHUS
. SOW (V) — BBICEBATh

. store (v) — 3anacathb

. rot (n, v) — THWJIb, THUEHUE, THUTh, IOPTUTHCS

. oats (n) — oBéc

. small grains — 3epHOBbIE KyJIBTYpPBI

. seedbed (n) — mouBa, NPUTOTOBIICHHAS 1JI IOCEBA, CEMEHHOE JIOXKE, TPSIKa,
JyHKa

8. mellow (adj) — ppIxJiblid, IIOIOPOAHBIN, KUPHBIN

9. coarse seeds — kpyInHbIE CEMEHA

10. exclude (v) — uckiroyath

11. cause (v) — BbI3bIBATh

NNt AW N =

1. Read and translate the following words.
Useless, germinate, depth, sufficient supply, moisture, surface, coarse seeds,
clover, alfalfa, moisture, undesirable, exclude, moist.

2. Read and translate the text «Planting the seed».
Planting the seed

Planting the seed is usually useless until the soil and the air are warm
enough.

There is no growth below the freezing point, and most seeds germinate very
slowly below 3-5 °C. The optimum temperature, or that at which seeds germinate
best, varies with different kinds of seeds. The optimum temperature for most of the
small grains, is about 24-28 °C. Cotton and corn germinate best at about 35 °C.
For this reason sowing oats and wheat are to begin much earlier than we have to
plant cotton or corn.

The Depth of Planting. The soil we use as a seedbed should be fine and
mellow, and the planting of seed must not be done too deeply. The depth of
planting the seed depends largely on its size and the store of plant food the seed
contains.

Planting the seed, the farmer should keep in mind two things. On one hand,
seed must be planted deep enough to have a sufficient supply of moisture after its
germination. On the other hand, fine seed must not be planted too deeply, for the
young plant will have some difficultly in reaching the surface.

The coarse seeds of corn and peas are to be planted much deeper than those
of clover or alfalfa.
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The Soil Moisture. On one hand, too much water is undesirable, for it
excludes the air from the soil and causes rotting of the seed. On the other hand, a
dry soil does not contain moisture enough to cause the germination of the seed.

The right kind of preparing a seedbed is to have a fine, moist and mellow
soil; it should not dry out rapidly and must allow the air to reach the germinating
seeds.

3. Answer the questions on the text.

1. When is it necessary to plant the seed?

2. Is there growth below the freezing point?

3. What is the optimum temperature at which seeds germinate best?

4. What is the optimum temperature for most of the small grains?

5. Is it a good practice to plant seeds too deeply?

6. What does the depth of planting depend on?

7. Which two things should the farmer keep in mind, planting the seed?
8. Why is too much water in the soil undesirable?

9. Does a dry soil contain moisture enough to cause the germination of the seed?
10. What is the right kind of preparing a seedbed?

4. Insert the adequate prepositions: with, on, at, of.

1. The optimum temperature, or that ... which seeds germinate best, varies ...
different kinds ... seeds.

2. Cotton and com germinate best... about 35 °C.

3. The depth .. . planting the seed depends largely ... its size and the store...

food the seed contains.

4. ... the other hand. fine seed must not be planted too deeply.

5. The right kind ... preparing a seedbed is to have a fine, moist and mellow soil.

. Match the two parts to make up a sentence.

. The optimum temperature for most of the small grains, is....

. There 1s no growth below ...

. Too much water s ...

. The depth of planting the seed depends largely on ...

. The coarse seeds of corn and peas are to be planted much deeper than ...
. The soil we use as a seedbed should be ...

N W N —

.. its size and the store of plant food.
.. the freezing point.

.. fine and mellow.

... those of clover or alfalfa.

.. about 24-28 °C.

... undesirable.

hO a0 o

6. Make up a plan and retell the text.
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TEXT 2. Quinoa on the rise

1. Before you read the magazine article, talk about these questions.
1. How do plants change as they grow?
2. What function does each part of a plant serve?

2. Scan the magazine article «Quinoa on the rise» and find the meaning of the
underlined words.

3. Read the magazine article «Quinoa on the rise».
Quinoa on the rise

Few plants have as much protein as quinoa, and it can grow in many
environments. For that reason, it’s become popular with gardeners and commercial
farmers alike. Check out the following tips to grow quinoa at home. Quinoa
requires full sun to conduct photosynthesis.

Sow seeds where the plant will get plenty of light. Provide at least 10 inches
between rows to give the roots plenty of space. If you maintain growth charts,
you’ll notice that quinoa grows slowly at first. But when the stem reaches about 12
inches, the buds will flower. The plant is ready for harvest when the leaves drop.
Only the seed heads will remain. These can be stripped from the branches with
little effort. Remove and dry the seeds for your first quinoa harvest.

4. Read the magazine article. Then, mark the following statements as true (T)
or false (F).

1. __ No plant has more protein than quinoa.

2. __ Quinoa sprouts quickly and then slows.

3. __ Farmers who grow quinoa harvest its seeds.

. Match the words (1-4) with the definitions (a-d).
. __ photosynthesis

. __branch

. stalk

. __ quinoa

A~ W N = W

. a narrow part that supports leaves

. a chemical process that produces energy
. a limb of a plant

d. a strong plant that is grown for its seeds

o o
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6. Fill in the blanks with the correct words and phrases from the word bank:
roots, growth chart, leaves, buds, flowering, seedhead.

1. Those will grow into flowers.

2. Plants absorb nutrients from the soil with their

3. Photosynthesis occurs in the of a plant.

4. Tom keeps a detailed of his crops to test how effective his
fertilizers are.

5. plants usually produce colorful blooms in the spring.

6. The of a quinoa plant contains the protein-rich harvest.

7. Translate the words and their derivatives.
grow (v) — growth (n)

garden (n) — gardener (n)

conduct (v) — conductor (n)

provide (v) — provider (n)

harvest (n) — harvest (v)

. Translate the following sentences from Russian into English.
. MBI OlIeHHBaeM CEMEHHBIC TOJIOBKH.

. OHu nipoBenu (POTOCUHTES.

. Temnieparypa ynaina.

. OHu BeayT TaOIUIIBI POCTA.

. Cre0enp nocturaet 12 qroiMOB.

. CeMeHHBIE TOJIOBKH OCTAOTCH.

. 51 onleHnIa CEMEHHBIE TOJIOBKH.

. OHu He ipoBenu POTOCUHTES.

. Temnieparypa ymnazer.

10. Onu BeayT TaOAMIIBI pocTa?

11. CreGens nocturder 12 nroitmMoB?

12. CeMeHHBIE TOJIOBKH HE OCTAJIUCh.

13. Temneparypa nagaet?

14. Ona O6ynet BecTu TabuLbl pocTa’?
15. OHU HE OLIEHWIN CEMEHHEIE TOJIOBKH.
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9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.



11. Retell the text using a mind-map.

1. place
with
plenty
of sun

2. 10 inches between rows
3. buds flower when  RSEEUPNCEINGNE
astem8inches |

4. harvesting time: leaves
drop

5. strip seed heads

41
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much protein

growth in many
environments

popular
requires full sun
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HARVESTING

TEXT 1. Harvesting cereal crops

VOCABULARY

O 001NN AW

10.
11.

. harvesting (n) — y6opxka

. remove (v) — youparb

. grow (v) — pacru

. move (v) — IepeBO3UTh

. secure (adj) — 6e30mmacHoe

. processing (n) — nepepadoTka

. consumption (n) — notpedieHne
. storage (n) — XxpaHeHue

. ripen (v) — 3peTh, CO3peBaThH
mature (v) — JOCTUTHYTb 3PEIIOCTH, CO3PETH (0 MII0/1aX)
maturity (n) — crienocTtsb

12. picker (n) — miogoc6opHUK; KOMOalH /Uisl YOOPKH TIOA0B (ONPenEIeHHBIX

BN

13.
14.
15.
16.
17.
18.
19.
20.

21

22.
23.
24.
25.
26.
217.
28.
29.

1.
Se

JIOB); TTIOYaTKOCPBIBATEIb

storage facilities — ckab

cereal crops — 3epHOBBIC KYJIbTYPbI
primarily (adv) — B nepByo ouepeb, TIIaBHBIM 00pa3oM
starchy (adj) — xpaxManucTbii

wheat (n)— mmenuna

rye (n) — poxsp

oats (n) — oBéc

barley (n) — sumenb

. millet (n) — ipoco

depend on (v) — 3aBUCETH OT

amount (7) — KOJIUYECTBO

technique (1) — meTo

promote (v) — ciocoOCTBOBAThH

variety (n) — copT

oscillating sieve — BUOpaIimoHHoe CUTO
revolving cylinder — Bpamaromuiics 6apaban
combine harvester — yoopouHblii KOMOaiiH

Read and translate the following words.

cure, consumption, quality, ripen, mature, livestock feed,
wheat, rye, oats, barley, sorghum, millets, amount, oscillating sieves,

preliminary treatment.

cereals,
unsuited,


https://www.britannica.com/plant/wheat
https://www.britannica.com/plant/rye
https://www.britannica.com/topic/oats
https://www.britannica.com/plant/barley-cereal
https://www.britannica.com/plant/millet-plant
https://www.britannica.com/technology/combine
https://www.britannica.com/plant/wheat
https://www.britannica.com/plant/rye
https://www.britannica.com/topic/oats
https://www.britannica.com/plant/barley-cereal
https://www.britannica.com/plant/sorghum-grain
https://www.britannica.com/plant/millet-plant
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2. Read and translate the text «Harvesting cereal crops».
Harvesting cereal crops

Harvesting is the act of removing a crop from where it was growing and
moving it to a more secure location for processing, consumption, or storage.
Most crops reach a period of maximum quality — that is, they ripen or mature.
The major factor for harvesting is the maturity of the crop. Other factors such as
weather, harvest equipment, pickers, packing and storage facilities, and transport
are also important.

Cereal farming, growing of cereal crops for human food and livestock feed
are of great importance. Cereals, or grains, are members of the grass family
(Poaceae) cultivated primarily for their starchy dry fruits.

Wheat, rice, corn (maize), rye, oats, barley, sorghum, and some of
the millets are common cereals.

The cultivation of cereals varies widely in different countries and depends
on many factors. They include the economic development, the nature of the soil,
the amount of rainfall, and the techniques applied to promote growth. Winter
wheat is usually harvested in July. Winter varieties of barley and rye are usually
harvested in June. Modern cleaning methods employ such devices as oscillating
sieves or revolving cylinders.

. Answer the questions on the text.

. What is harvesting?

. When do farmers realize that it is time to harvest?
. Name the factors for harvesting.

. Why do farmers cultivate cereals?

. Name the common cereals.

. When is winter wheat harvested?

. What equipment is used to harvest cereals?

<N O\~ W

4. Insert the adequate prepositions: o, for, of, in, with.

1. Growing of cereal crops for human food and livestock feed is ... great
importance.

2. The cultivation of cereals varies widely ... different countries.

. Seed obtained ... a combine harvester is often unsuited for use.

. The major factor ... harvesting is the maturity of the crop.

. A crop is moved ... a more secure location.

B~ W

. Match the two parts to make up a sentence.
. Cereals, or grains, are members of ...

. The major factor for harvesting is ...

. Winter wheat is usually harvested in ...

W N = U


https://www.britannica.com/plant/plant
https://www.britannica.com/topic/cereal
https://www.britannica.com/topic/food
https://www.britannica.com/plant/Poaceae
https://www.merriam-webster.com/dictionary/cultivated
https://www.britannica.com/plant/wheat
https://www.britannica.com/plant/rice
https://www.britannica.com/plant/corn-plant
https://www.britannica.com/plant/rye
https://www.britannica.com/topic/oats
https://www.britannica.com/plant/barley-cereal
https://www.britannica.com/plant/sorghum-grain
https://www.britannica.com/plant/millet-plant
https://www.britannica.com/topic/cultivation
https://www.britannica.com/science/soil
https://www.britannica.com/topic/cereal
https://www.britannica.com/topic/food
https://www.britannica.com/topic/cultivation
https://www.britannica.com/technology/combine
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4. Most of them are used directly as food for people, others are used in ...
5. Harvesting is the act of removing a crop from where ...
6. The cultivation of cereals depends on ...

.. the maturity of the crop.

.. 1t was growing and moving it to a more secure location.

.. the grass family (Poaceae).

.. July.

.. ripen or mature.

... the economic development, the nature of the soil, the amount of rainfall, and
the techniques.

"o Ao o

6. Make up a plan and retell the text.

TEXT 2. Report on harvest
1. Before you read the passage, talk about these questions.
1. When do farmers harvest crops in your country?

2. How do farmers gather crops during harvest?

2. Scan the magazine article «Report on harvest» and find the meaning of the
underlined words.

3. Read the harvest summary report.

Report on harvest

Reynolds harvesting Harvest summary report Farm: 0024

Crops: Hay and Wheat

Harvest Field # Yield Package | Package Rained

day / Crop Type Weight On

02/29 1 / Hay 0.5 ton/acre | Round | 0.6 tons No

Bale

08/16 2 / Wheat 30 bushels / | Bushel | 600 bushels | Yes
acre

10/02 3 / Wheat 80 bushels / | Bushel | 16000 No
acre bushels

Notes: Field #1 had the most abundant yield. Field #2 was more difficult. It
matured later than expected. The farmers reaped several bushels too early. We
also experienced an equipment problem during threshing. Some of the hay was
not properly separated from the chaff. Field #3 was more successful. Inspectors

discarded nearly a ton of unacceptable material from the stacks. Most came out
of field #2.


https://www.britannica.com/topic/cultivation
https://www.britannica.com/plant/Poaceae
https://www.britannica.com/science/soil
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4. Read the harvest summary report. Then, mark the following statements as
true (T) or false (F).

1. __ The crops all have the same package type.

2. __ None of the crops were rained on.

3. __ Field #2 produced the smallest amount of wheat

5. Read the sentence pair. Choose where the words best fit the blanks.
1. reap / mature
a. the crops in six months.
b. Some plants take longer to
2. chaff/ harvest
a. The annual ____ is next month.
b. This machine removes the unusable _____
3. tons / bales
a. There were many more of hay this year
b. How many of wheat were harvested?
6. Write a word that is similar in meaning to the underlined part.
1. This year’s quantity of crops produced was twice last year’s.
y__.d
2. Removing unusable parts from wheat makes it edible.
h s_.n

3. Instead of gathering the crops in bales, we left them in organized piles.
_ta__ _

4. When you go to the market, get 2 units of measurement equal to 9.3 Gallons of
grain.

b_s

5. When you place an order, tell them what form of packaging to use.

7. Translate the words and their derivatives
report (n) — report (v)

experience (n) — experience (v)

reap (v) — reaper (n)

thresh (v) — threshing (adj)

acceptable (adj) — unacceptable (adj)
mature (adj) — mature (v)

harvest (n) — harvest (v)

success (n) — successful (adj)

farm (n) — farming (n) — farmer (n)
separate (v) — separation (n) — separator (n)
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. Translate the following sentences from Russian into English.
. MBI genaemM KpaTKuid OTYET.

. OHa OTMEYaeT IeHb YpOXKasl.

. OHM MOJIy4arOT CEHO U MILECHUILY.

. MBI TOSTyYnITA BEICOKUN YpOKaH.

. [Tmennna co3pena.

. MBI HEe UCTIBITHIBAEM TPYAHOCTU C 000PYIOBAHUEM.

. OHa cnenana KpaTkuid OTYET.

. OHu He OyTyT OTMEUaTh ACHB YPOKas.

. Bpl HE MOTy4rIIM CEHO U MILEHULLY.

10. OHuM NOJTy4HITM BEICOKUH ypOXKail?

11. ITrenuiia co3pena?

12. Mb1 OyieM UCTIBITBIBATH TPYIHOCTH ¢ 000PYI0BAHUEM.
13. Te1 Oynenis aenaTh KpaTKUid OTYCT?

14. ITirennia He co3pena.

15. MbI nosty4aeM BBICOKUH ypOxKal KaXKIbIi TOJI.

9.

Write the theses on the content of the text.

10. Highlight a subproblem for each problem.

11. Retell the text using a mind-map.

yield - 0.5 ton / acre

REPORT ON
HARVEST 80 bushels / acre

| Field 3 - wheat a ton of unacceptable
yield - 30 bushels / acre wheat

\ate maturity

Field 2 - wheat ) €quipment problem

Improper separation from
chaff
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STORAGE

TEXT 1. Storage of crops
VOCABULARY
. small-scale (adj) — HebompII0H
. large-scale (adj) — xpynHbIii
. proper (adj) — npaBUIbHBIN
. Storage space — XpaHWJIHILE
. inadequate (adj) — HeamekBaTHBIN
. grain loss — noreps 3epHa
. rodent (n) — rpeI3yH
. fungi (n) — rpuOsI
9. moisture () — B1a)XKHOCTb
10. rodent infestations — HaliecTBrE IPHI3YHOB
11. moist (adj) — cbipoi, BIaxHbIN
12. fungal (adj) — rpubKoBbIit
13. avoid (adj) — u3beratpb
14. drying (n) — BrICylIMBaHUE, CYyIIIKA
15. grain (n) — xJ1eOHBIN 3J1aK, 36pHO
16. fumigation (n) — ne3undexuus, odbe33apaxxuBaHue
17. gunny bag — X0JII0BBIA MEIIOK
18. granary (n) — 3epHOXpaHUIUIIE
19. godown (1) — NOpTOBBIN CKIaL

0NN Ut &~ W —

1. Read and translate the following words.
Storage, fungi, fumigation, granary, go down, microbe, environmental, pesticide,
chemical, inadequate, require, moist, result, moisture, infestation.

2. Read and translate the text «Storage of crops».
Storage of crops

In the case of small-scale cultivation, farmers use the harvested crop for
themselves while large-scale production is mainly for marketing. Thus the
cultivators have to store the grains. For this, proper storage space has to be
arranged. Inadequate storage space and improper storage methods can lead to a
huge grain loss.

In addition to pest and rodents, microbes like bacteria, fungi, and
environmental conditions such as moisture and temperature might attack the
stored grains. Therefore, proper treatment is required before the grains are stored.

Rodent infestations can be prevented by pesticides. A moist environment
results in fungal growth on grains. This can be avoided by proper drying of
grains in sunlight.


https://byjus.com/biology/microbes/
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Another method is fumigation where chemicals are used to prevent bacteria
and other microorganisms. After proper treatments, grains have to be stored in
gunny bags or granaries and deposited in godowns.

Thus we see how harvesting and storage of grains form an important part of
crop production.

. Answer the questions on the text.

. Why must farmers store the grains?

. What must farmers do to store properly the grains?

. What might attack the stored grains?

. How can rodent infestations be prevented?

. What does a moist environment result in?

. What is another method to prevent bacteria?

. After proper treatments, grains have to be stored in gunny bags or granaries and
deposited in godowns, don’t they?

<N Ok WD =W

4. Insert the adequate prepositions: o, for, by, in, afte.

1. Farmers use the harvested crop ... themselves.

2. A moist environment results ... fungal growth on grains.

3. ... proper treatments, grains have to be stored in gunny bags.

4. Rodent infestations can be prevented ... pesticides.

5. In addition ... pest and rodents, microbes like bacteria, fungi, and environmental
conditions such as moisture and temperature might attack the stored grains.

5. Match the two parts to make up a sentence.
1. In case of small-scale cultivation, ...

2. Large-scale production is mainly ...

3. There are microbes like ...

4. There are rodents like ...

5. A most environment is avoided ...

6. Fumigation is used to ...

.. bacteria, fungi.

.. mice, rats.

.. prevent bacteria and other microorganisms.

.. for marketing.

.. farmers use the harvested crop for themselves.
... by proper drying of grains in sunlight.

hO a0 o

6. Make up a plan and retell the text.


https://byjus.com/biology/microbes/

49
TEXT 2. Storage daily routine

1. Before you read the passage, talk about these questions.
1. How do farmers store crops in your country?
2. How can stored crops be damaged?

2. Scan the magazine article «Storage daily routine» and find the meaning of
the underlined words.

3. Read the email «Storage daily routine».
Storage daily routine

Mr Garcia,

We found a problem in bunker silo number 13. Mold is growing near the
south opening. I suspect two cases. First, there was improper leveling. Too much
moisture gathered at one end. Secondly, the silo has too much ventilation. I can’t
dry and cool the silage.

As a result, most of the silage is destroyed. The rest is in silage bags for
now. Number 13 is closed until we remove the mold. Should we use one of the
tower silos for storage in the meantime? We should also discuss how to fix
Number 13. I don’t want this happen again.

Thank you,
Carla Thompson Storage Manager

4. Read the email. Then, complete the summary of the email.
Workers discovered mold in

There were two causes: improper and too much
Most of the silage was destroyed. The rest is in bags.
The workers might store silage in the silos.

5. Read the sentence pair. Choose where the words best fit the blanks.
1. cool / dry

a. the grain or the heat will ruin it.

b. After the harvest, the wet crops.

2 storage / mold

a. Nancy is worried about getting ____ in her silo.

b. Jim sold some of the grain and put the rest in

3. silage bag / ventilation

a. There’s a problem with the silo; use a _

b. Don’s storage facilities have excellent
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6. Match the words (1-4) with the definitions (a-d).
1. __leveling

2. moisture

3. tower silo

a. flattening the top of a pile

b. a long trench used to store grain
Cc. wetness

d. a tall storage facility

7. Translate the words and their derivatives.
open (v) — opening (n)

proper (adj) — improper (adj)

level (v) — leveling (n)

moist (adj) — moisture (n)

silo (n) — silage (n)

ventilate (v) — ventilation (n)

cool (adj) — cool (v)

destroy (v) — destroyer (n)

8. Translate the following sentences from Russian into English.
1. M1 0OHapy>Xuiu npoosiemy.

2. [IneceHp BrIpOCIIA BO3JIE ABEPH.

3. OHu He OyAyT CyIIHUTh OYHKEp JJIsl XpaHEeHHs 3€pHa.
4. depMepbl HE BEHTUIMPYIOT CHIIOCHYIO OaIIHIO.

5. Cunoc He UCTIOPTHIICS.

6. Iliecenp MoOABUTCS CHOBA.

7. Ilouemy OHM OXJIQUIIU 3€PHOXPAHUIIHUILE?

8. bbl1 HEMPaBUIILHO YCTAHOBJIEH HAKJIOH.

9. OHH He yaaisaT BCIO IJIECEHb B OyHKeEpE.

10. YUTto ucnopTuiio 3epHO B 3€pHOXpaHUIUIIE?

9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.
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11. Retell the text using a mind-map.

unpropts ndtling
REASONS OF MOLD
7‘00 w»wol/u wenfilation
- STORAGE DAILY wost of the stlage is
ROUTING W"‘M
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AGRICULTURAL EQUIPMENT

TEXT 1. Harvest equipment

VOCABULARY

. harvesting (n) — yoopka ypoxas

. diverse (adj) — pazHOOOpa3HbIi

. crop production — pacTEHUEBOJICTBO

. handling of residues — o6pa6oTka ocTaTkoB

. primary tillage — nepBuuHast 06pabOTKa MOYBHI

. secondary tillage — npennoceBHast 00pabOTKa MOYBbI
. fertilizer distribution — BHecenue ynoOpeHmii

. fertilizer application — BHeceHue y100peHuil, MpUMEHEHUE yI00peHu i
. seeding (1) — BHECEHHE 3aTPaBKU

10. planting (n) — HacaxxaeHue

11. transplanting (n) — nepecaxxuBanue, nepecaaka

12. premarketing processing — npeanpojaxHas oopadboTka
13. drainage (n) — nqpeHupoBaHue, OCYIIICHUE

14. combine harvester — yoopouHblii KoMOaiiH

15. plow (n) — ryr

16. standing grain — xjie0 Ha KOpHIO

17. thresh (v) — MOJTOTHUTB

18. winnow (v) — BesITh

19. apply (v) — npuMeHSTH

20. small grains — MeIKO3epHUCTHIE KYJIbTYpPbI

21. grain sorghum — 3epHOBOE COpro

22. seedbed preparation — mpemoceBHas OArOTOBKA
23. loosen (v) — pbIXJIUTH

24. covers trash — 3aenpIBaTh OCTaTKU

25. manure (n) — HaBO3

Nelie oBEN Be) SRV, IR NSRS I N

1. Read and translate the following words.
Manure, cover, plow, thresh, production, primary, application, erosion, residues,
agricultural machinery, drainage, fertilizing, previous crops, diverse.

2. Read and translate the text «Harvest equipment.
Harvest equipment

Harvesting includes many operations of farming for which diverse
machines are used. For crop production they include handling of residues from
previous crops; primary and secondary tillage of the soil; fertilizer distribution
and application; seeding, planting, and transplanting; cultivation; pest control;
harvesting; transportation; storage; premarketing processing; drainage; irrigation
and erosion control; and water conservation.


https://www.merriam-webster.com/dictionary/diverse
https://www.britannica.com/topic/crop-production
https://www.britannica.com/topic/tillage
https://www.britannica.com/topic/fertilizer
https://www.britannica.com/topic/crop-production
https://www.britannica.com/topic/tillage
https://www.britannica.com/topic/fertilizer
https://www.britannica.com/science/water
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The main pieces of agricultural machinery are a combine harvester, a plow
and a tractor. The combine harvester is used to cut the standing grain, to thresh
and winnow it. It is applied for harvesting all the small grains, soybean, grain
sorghum, rice and many other crops.

A plow is used in seedbed preparation. It breaks and loosens the soil,
covers trash or manure.

A tractor deals with plowing, cultivating, fertilizing and harvesting.

. Answer the questions on the text.

. What operations does harvesting include?

. What are the main pieces of agricultural machinery?
. What is a combine harvester used to do?

. What is a combine harvester applied for?

. Where is a plow used in?

. What does a plow do?

. What are the functions of the plow?

<N Ok WD — W

. Insert the adequate prepositions: from, of, with, in, for.

. A tractor deals ... plowing, cultivating, fertilizing and harvesting.

2. The main pieces ... agricultural machinery are a combine harvester, a plow and
a tractor.

3. Harvesting includes many operations of farming ... which diverse machines are
used.

4. A plow is used ... seedbed preparation.

5. For crop production they include handling of residues ... previous crops;
primary and secondary tillage of the soil.

—

5. Match the two parts to make up a sentence.

1. Aplowisusedin ...

2. A tractor deals with ...

3. The main pieces of agricultural machinery are ...
4. The combine harvester is used to ...

5. It is applied for harvesting ...

6. Operations of farming include ...

a. ... cut the standing grain, to thresh and winnow it.

b. ... handling of residues from previous crops; primary and secondary
tillage of the soil.

C. ... a combine harvester, a plow and a tractor.

d. ... seedbed preparation.

e. ... plowing, cultivating, fertilizing and harvesting.

f. ... all the small grains, soybean, grain sorghum, rice and many other crops.

6. Make up a plan and retell the text.


https://www.britannica.com/topic/crop-production
https://www.britannica.com/topic/tillage
https://www.britannica.com/topic/tillage
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TEXT 2. Advertizing harvest equipment

1. Before you read the passage, talk about these questions.
1. What types of equipment are used in harvesting?
2. What are the challenges of harvesting crops?

2. Scan the magazine article «Advertizing harvest equipment» and find the
meaning of the underlined words.

3. Read the magazine article «Advertizing harvest equipment» and get ready
to do post-reading exercises.

Advertizing harvest equipment

Finneman’s offers a wide range of services. We provide custom harvesting
and grain transportation, hay baling, and more!

Services for Grain Crops — We have the best combine harvesters and
gleaners around! If you want your grain transported we can help. Chaser bins or
gravity wagons transport your grain from field to storage. We have grain augers
and conveyor belts for rent too! We make moving grain easy.

Silage — Our forage harvesters are perfect for clearing a field. Don’t waste
the plant remains after harvest. Rent a forage harvester and make silage.

Hay — We provide hay baling! We bring our balers to you.

Bale wrappers are available upon request.

Don’t wait for your hay to dry. Ask about our hay conditioners.

4. Read the website. Then, mark the following statements as true (T)
or false (F).

1. __ Customers can purchase grain from Finneman’s.

2. __ Silage is made from plant remains.

3. __ Finneman’s can condition wet hay.

5. Match the words (1-5) with the definitions (a-e).
1. __ chaser bin

2. baler

3. __ gleaner

4. _ combine harvester

5. __ forage harvester

a. A machine that harvests crops of grain

b. A harvest machine that does not use gas

c. A cart used to carry grain from a field to storage
d. A device that bundles hay

e. A device that cuts up plants for use as silage
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6. Write a word that is similar in meaning to the underlined part.
1. Grain is easier to unload with an angled cart that is pulled behind a tractor.

g _ y WwW__o_

2. Use the dev1ce that wraps bales to keep them dry before the rain starts.
_a_ _p___

3. Don’t forget the device that cuts hay so it will dry quickly.

__YyY C__ _____ n_r

4 The moving strip (neHTa) of material that transports objects to other areas,

moves grain from here to the other side of the barn.

C__V b

5. The new device that moves grain from trucks and carts into storage bins.
_r__n __g__

7. Translate the words and their derivatives
offer (v) — offer (n)

wide (adj) — width (n)

harvest (v) — harvesting (n)

transport (v) — transportation (n)

bale (n) — baling (n) — bale (v)

harvest (n) — harvest (v) — combine harvester (n)
glean (v) — gleaner (n)

storage (n) — store (v)

silo (n) — silage (n)

remain (v) — remains (n, pl)

8. Translate the following sentences from Russian into English.
1. MpI npeaiaraeM MUpoKUi CIIEKTP YCIIYT.

2. Ona obecnieunBaeT yoOOpKy ypoxasi o KOHTPaKTy?
3. OHu nepeBe3id 3epHO BYEpa.

4. On OyzaeT ouumiaTh moJie 3aBTpa?

5. OHM HE NOTPaTUIIU BIYCTYIO CEHO.

6. OHu He yOepyT pacTUTEIbHBIC OCTATKH 3aBTpa.

7. OHUM 3arOTOBUIIA CEHO?

8. OHM NEPEBO3AT 36PHOBBIE KYJIBTYPBI.

9. OH TpaTUT BIIYCTYIO CBOE BpEMSI.

10. Brl mpeocraBisieTe MUPOKUN CIIEKTP YCIyT?

9. Write the theses on the content of the text.

10. Highlight a subproblem for each problem.
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11. Retell the text using a mind-map.

combine harvesters

gleaners
chaser bins

Services for grain crops

balers ADVERTEZN grayitywagons
bale wrappers G HARVEST
EQUIPMENT | conveyor belts

hay conditioners

forage harvester
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